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Public Economics 3

Summary notes: Black et al, Chapter 2

Benchmark model of the economy: positive and normative approaches

Learning objective:

· Identify the critical assumptions of the two-sector model

· Define what is meant by a Pareto-optimal allocation of resources

· Articulate the three conditions for a general equilibrium

· Distinguish between allocative efficiency, X- efficiency and “dynamic” efficiency (or economic growth)

· Discuss the broad categories of market failure

· Explain the allocative, distributive and stabilisation functions of government

· Distinguish between direct and indirect forms of government intervention

General approach:

Construct simple two-sector model with “patently unrealistic assumptions” (perfect competition model) – a model of how the world ought to work (a normative stance).

This serves as a starting point – relaxing the assumptions and introducing market failure takes us from the normative model into the real world – i.e., the domain of positive economics.

2.1.  Basic assumptions

See Box 2.1 – 5 sets of assumptions:

1. 2 commodities (X and Y), 2 individuals (A and B), 2 factors (K and L)

2. smooth well-behaved individual indifference curves; no external effects

3. smooth well-behaved isoquants; no external costs or benefits

4. A and B maximize utility as consumers, and profit as producers; perfect information and perfectly mobile

5. commodity and factor markets are perfectly competitive

Together these assumptions ensure a stable and unique general equilibrium.

2.2.  The benchmark model and allocative efficiency

Economic efficiency: allocative efficiency and technical/ X-efficiency.

Allocative efficiency: when limited resources of a country are allocated in accordance with wishes of consumers, an “optimal mix” of commodities is produced. 

3 conditions to be met: 

· Condition 1. Production activities must be Pareto-optimal, i.e. it should not be possible to increase the output of either commodity without thereby decreasing the output of the other. 

· Condition 2. No inter-personal reallocation of commodities can increase the utility of either consumer without thereby decreasing the utility of the other. 

· Condition 3. Producers and consumers must reach equilibrium simultaneously.

See Figure 2.4, p.19.

2.3.  X-efficiency and economic growth

Technical (or X-efficiency) – existing resources are used in the most efficient way, producing maximum possible output. Must take place on the PPF.

However, an X-efficient allocation is not a sufficient condition for economic efficiency as it is not necessarily Pareto-efficient (may not reflect wishes of consumers as well). X-efficiency ensures society produces on the PPF, but cannot determine where on the PPF it should be.

Economic growth (dynamic efficiency) - staying on PPF as it moves outward.

See Figure 2.5, p. 21.

2.4.  Market failure:  An overview

“The perfectly competitive model is nothing more than a theoretical nicety, a normative ideal against which real world conditions can be judged.”

2.4.1.  Lack of information

Costs of obtaining information – rational ignorance.

Question of whether government should intervene to provide certain types of information, e.g. activities of SABS.

2.4.2. Lags in adjustments

Most markets do not adjust quickly to changes in supply and demand. 

Lack of information. Resources not very mobile in the real world.

2.4.3.  Incomplete markets

Markets do not meet demand for public goods (e.g. lighthouse).

Nor do they account for external benefits and costs of individual actions (e.g. pollution). 

Detail in Ch. 3

2.4.4.  Non-competitive markets

The rule rather than the exception in the real world.

“Artificial” (created through regulation or its failure)

“Natural”  (falling cost-curve case)

Detail in Ch. 4

2.4.5.  Macroeconomic Instability

At macroeconomic level - failure of markets to adjust to external conditions. 

Role for govt. policies to account for this market failure.

2.4.6.  Distribution of income

‘Neutrality’ of neoclassical approach. The distribution of income in the model is based on the initial distribution of capital and labour between individuals - “what you put in is what you get out”. Model is silent on fairness of that distribution.

Socialism vs. the capitalist market? 

Mix of market-based economies with significant role for public sector. 

Detail in Ch. 5

These market failures listed above provide a case for govt. intervention.

2.5.  Enter the public sector:  General approaches

2.5.1.  Allocative function

Correct distortions in resource allocation arising from market failure due to incomplete and non-competitive markets.

Incomplete markets

· Public goods (defence, street lighting)

· Mixed goods (TV subs, health services)

· Externalities (pollution, education)

Non-competitive markets

· Natural and artificial monopolies

2.5.2.  Distributive function

Market outcomes tend to result in large income inequalities. Fair? 

Govt. use of taxes, transfers and subsidies to ameliorate ‘market’ outcomes.

2.5.3.  Stabilisation function

Govt. uses fiscal and monetary policies to account for failure of markets to realise macroeconomic objectives. 

New classical macroeconomic vs. neo-Keynesian school.

2.6.  Direct vs indirect government intervention

Direct government intervention:

· Actual participation – taxing, spending, borrowing, producing or financing production.

Indirect government intervention:

· Regulatory activities of the state – labour laws, competition policies, anti-tobacco laws, etc.

Distinction between two can have an important impact on estimates of the extent of government participation in the economy.  Resource use measures can underestimate govt. effect on the economy as indirect effects are not included.

The extent of regulatory activity is much harder to measure (e.g. apartheid, or the Japanese approach to industrialisation.)

2.7.  Concluding note on government failure

Governments, like markets, fail too.

Govt. bureaucrats, employees, politicians often pursue self-interest rather than public interest. Often inefficient.  

To judge whether govt. is performing efficiently, it is necessary to know why govts. intervene in the first place and what it is that govts. are supposed to do…

